MATH 1730 - CALCULUS WITH APPLICATIONS IN BUSINESS AND FINANCE

R.2R.3AND R4

MODELS - representation / description of some object

of relations betweens objects

mathematical model
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models/formaue represent functions

2 sets - domain, range.(:\.\
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forevery x, y is unique.




X= states y= senators
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will this constitute a function?
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this, however is a function

because for every x, there is a unique Y
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no 2 pairs with the same 1st coordinate willhave different 2nd coordinates

(1,2), (3,2) ~”

(12)(13) ~< which of these will be a function?
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f-notations -
f(x) = 2x+5 :?’K = :rj
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y=2x+5
y=f(x)

ordered pair (X,f(x))

linear function - if you plot it, it WILL give you a line

non linear - will not.
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piecewise functions: f(x) will have different equation forms depending

n the value of x
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interval notation
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types of functions: f

1. constant functions ﬂ _—
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2. linear functions N

'3. non linear functions 7V
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intercept is where the line will cut the y-axis (y-intercept)

slope intercept equation

y-y1 = m(x-x1) \/ =mMN 7’_\1?
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if you know the value of the slope, and any 1 point
on the line, you can find the equation of the line
and plot it as well
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if we 2 points, we can find the slépe. and thus draw/find the

line/equation




